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Note / ATe:
1. This question paper contains total eight questions.
TH T T H T A5 T 2

2. Attempt any five questions including compulsory question No. 1.
A aTd 7o Ja< 1 giad gl o TI7 & 3L <ITor |
3. Each question carries equal marks. Marks are divided and indicated against each part of

the question. Write answer in legible handwriting. Each part of the question must be
answered in sequence and in the same continuation.

AT TST F T 0 21 9T F oty g % 91 ¥ wekw 9 F fawg i e
AT g1 3T +0¢ for@mae # ford| W % o AT &7 I9< ST A0 H (<37 ST AT Ul

4. Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
question shall be counted even if attempted partly. Any page or portion of the page left
blank in answer book must be clearly struck off.

ST o I w0l TUMET HATTETE Al SITOIT| TS FTeT Tl @, AT T 6 IAL o0l TUMET %0f
ST =72 g I Serd: T T 2n 39 Fedet § @reil SISt gal I8 a7 I8F (9T i

Y B H FHT AT A2
5. Re-evaluation / Re-checking of answer book is not allowed.

SALTEART o TR [ T ST 6l AT ol 2

1. Answer the following questions in brief: - (05x04=20)

Freferfea w1 s97 529 ¥ -

(a) Briefly explain the Pradhan Mantri MUDRA Yojna. How far is it correct to say that
it has not translated into tangible increases in lending to the MSME sector, let alone
to underserved regions or segments?

TLTT HT qRT TTSIAT 6 T § THATSH| T FigedT gl qh 1o g 1o 39 &A1 AT
SATAT %00 AT a1d GBI STl Tgol & AT g, THT MSME &3 &l 30T IuTee F¥d
H oft FIE S ARAAT g qgl il 572

(b) Explain India’s commitment to WTO’s Agreement on Agriculture. How have these
affected India’s interest?
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WTO F ‘T ¥ FHATT & T AT ol TddGdl il THATST| Tegle qd & (gd

T TR SeRTe | T Rt 87

(c) Enumerate the main problems encountered by the economy of Himachal Pradesh.
How far is correct say that growth in the state has not inclusive and both inter-
personal and regional disparity have increased over the years?

A= e sefsEedT & g0 9T 6 S ATt JqE aHeE A o
FITTT| T FgAT Fgl dh I(od ¢ Toh 1o | T quTeeft 98! @1 8§ T97 999 %
AT T STHATHAT ST &1 [AwHar 241 H g5 g 87

(d) How far is it correct to discredit neo-liberal policy for casualization of employment

and fall in employment elasticity of output? Enumerate some measures that you
would suggest to handle the problem?

TSI o F{AATSIHI (TR EHHAT) ST ITATEA 0T TSI AT | FHT 6 (o707 79-
IAATE &l T AT 78 g8 aF 3T=a g2 =0 987eqT il M9er & o sera o
Fehel ATl T, SATAT %0l AT ity |

“The financial sector reforms in India though have been slow paced, yet these have been
synchronized and have led to the creation and development of efficient and stable
financial institutions and vibrant money and government securities market.” Evaluate the
success of financial sector reform in India in the light of above statement. What
regulatory and supervisory challenges the reforms have created and how these can be
effectively tackled?

"I H O o % g g™ iH g foeq auedterE g i e I A Y
AT aTel A e Ua evaaefie #ifed Ua a9l Tragiaat & arsire &7 g
ST faaTe ol §1" =9 97 & e § Ad | A= &5 & el &7 qearesd ooy
AT = fofet e va Aeeromens Faiaat &7 A QAT 8 3T S9! TATET STHAT el
T ST TRt 82 (14+6)

“Though they cannot ne an alternative and substitute to large scale enterprises, yet Micro
Small and Medium Enterprises (MSMEs)play a crucial role in boosting industrial growth,
creating employment, ensuring success of Make in India Programme and overall fostering
inclusive growth.” Discuss

TATT AT F2q THT & AN & (dohed UF TEIH Tgl ol Thd qIT9 T, T Ug
HeaH SYHT (MSMEs) Sir=iTie: A &7 SreaTiad Fed, AT FT gord Feed, ‘W TH
SRAT FEAFH & TRl AT Fied T AT FFe w7 ggrar o § [
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4.

S.

6.

C\EED IGEIE] Bl AT EnE el
(20)
Explain the trends and composition of India’s external debt. Do you support the

contention that India’s overseas debt plan has limited benefits and many risks? What
steps would you suggest to handle India’s external debt burden?

AT & faasft =7 @it 9gia ol T9e it AT S| 77 AT 26 [@=r &1 70T
Fd & T A it el =& TiseT & A HWT g UF AeH agq Aied 52 9ed &
TR 0T HHEAT o THTETT & [o77 T 4T TATT a47? (14+6)

(a) “The inverse relationship between farm size and efficiency is a debatable issue and
depends on the proxy we use to measure efficiency viz land productivity or labour
productivity.” Discuss

SId & ST TF FIAAT 6 S 1 R0cHa qraee UF FaEeTs [Qug g s
THHT MO = 9¥ Q9T Far g & geraar & sfafater (ret) & &7 7 29 e
TART Fd 8 S[H H ITATEhal &7 AT o7 & Jcareshar &n" fEe=mr S|
(8)

(b) “Green revolution in India has though raised productivity and improved Indian
farming, yet has at the same time resulted in negative externalities.” Under these
circumstances would you support a Second Green Revolution? Give arguments to

support your answer.

"R § gRa witd F T IearEwar § gig it g T AR Fio H g wi
TrcATed 6T g, T a1 S AT S8 SK0TcH S JTg[arsll &1 goid |l &6ar 51" =9
qRETT § AT A UF AT A FfA B AAGT F? AU I F qHAT H T
HUERI (8+4)

Account for the rapid growth of GNP and GNP per capita witnessed by the Indian
economy in the post liberalization era. How far is it correct to claim that the leap-frog
strategy (neglect of manufacturing sector) and failure to reap demographic dividend are
going to play spoil sport in India’s endeavour to emerge as an economic superpower?

SEMLATE % T8 %l dATer § 92 6 GNP < T =7<h GNP # g a1l 1 faere ¥
THTEAT FISTA| T FgAT Fogl aoh I g i ATTRAT Lot (FEfAwTor &= it 394T) &
SRR ATHTET T ATH ISTH | ATEHAAT U AR HGTeT<h I o AT o T Hl
THAT T 2T 87 (12 +8)
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7. Explain India’s experience with the economic planning. Why has the government
discontinued planning process and disbanded the Planning Commission? How the setting
up of NITI Aayog has changed the planning perspective in India?

RIS o 9T AT & SAq9d T AT | IR F FAT [FAS A AT F a9 w1
o qur T s w7 fREr? AT s f v 7 G owwe e
e iy TqTiad RaT g2 (10+3+7)

8. (a) Briefly mention the factors that have led to higher fiscal deficits in India in recent
times. How is it going to impact government finances and influence life of a

common man?

I FILRT 0l FAT IS (STTeh HILOT ZTA o q9T | T | TS NT 71 7 Jhg

TS Bl TEET IR aaTe & i Rafsr g o srae & Stad 9% " 9297?
(7+3)
(b) India’s growth of manufacturing has been far from satisfactory. What changes in the
industrial policy would you suggest to resurrect industrial growth in India?

qTA o TATHHTOr &= F7 S Sarasee qgl @l gl ST 9d & SR Jird o

FAT FIATT ATAT ATedl ST AT & AR [SwT w1 Asiiad a1 ST Fhal

2? (10)
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